

Strong Convergence Theorem for k – strictly pseudo λ – hybrid Mappings and Equilibrium Problem in Hilbert Spaces

Urailuk Singthong

Department of Mathematics, Faculty of Science, Maejo University,
Chiang Mai, 50290, Thailand.

Abstract

In this paper we prove a strong convergence theorem for k –strictly pseudo λ –hybrid mappings and equilibrium problem in Hilbert spaces by using an idea of mean convergence. The main result of this paper extend the results obtained by Osilike and Isiogugu (Nonlinear Analysis 74 (2011) 1814-1822) and Kurokawa and Takahashi (Nonlinear Analysis 73 (2010) 1562-1568).

Keyword: Hilbert spaces: k -strictly pseudononspreading mappings: λ -hybrid mappings: fixed points: strong convergence

1 Introduction

Let H be a real Hilbert space. A mapping $T : D(T) \subseteq H \longrightarrow H$ is said to be L –*Lipschitzian* if there exists $L > 0$ such that

$$\|Tx - Ty\| \leq L\|x - y\|, \quad \forall x, y \in D(T). \quad (1.1)$$

If $L < 1$ in (1.1), T is said to be *strictly contractive*, T is said to be *quasi – nonexpansive* if $F(T) = \{x \in D(T) : Tx = x\} \neq \emptyset$ and $\|Tx - p\| \leq \|x - p\|$ for al x in $D(T)$ and for all p in $F(T)$. Furthermore, T is said to be *firmly nonexpansive* if

$$\|Tx - Ty\|^2 \leq \langle x - y, Tx - Ty \rangle, \quad \forall x, y \in D(T).$$

Every nonexpansive mapping with a nonempty fixed point set $F(T)$ is quasi-nonexpansive, and firmly nonexpansive mappings are important examples of nonexpansive mappings.¹

¹

In 2010, Kohsaka and Takahashi ([12],[13]) introduced an important class of mappings which they called the class of *nonspreading mappings*. Let E be a real smooth, strictly convex and reflexive Banach space, and let j denote the duality mapping of E . Let C be a nonempty closed convex subset of E . They called a mapping $T : C \rightarrow C$ *nonspreading* if

$$\phi(Tx, Ty) + \phi(Ty, Tx) \leq \phi(Tx, y) + \phi(Ty, x)$$

for all $x, y \in C$, where $\phi(x, y) = \|x\|^2 - 2\langle x, j(y) \rangle + \|y\|^2$, $\forall x, y \in E$. They considered the class of nonspreading mappings to study the resolvents of a maximal monotone operators in the Banach space. This class of mappings is deduced from the class of firmly nonexpansive mappings. Observe that if E is a real Hilbert space, then j is the identity and

$$\phi(x, y) = \|x\|^2 - 2\langle x, y \rangle + \|y\|^2 = \|x - y\|^2.$$

If C is a nonempty closed convex subset of a Hilbert space, then $T : C \rightarrow C$ is *nonspreading* if

$$2\|Tx - Ty\|^2 \leq \|Tx - y\|^2 + \|Ty - x\|^2, \quad \forall x, y \in C. \quad (1.2)$$

It is shown in ([11]) that (1.2) is equivalent to

$$\|Tx - Ty\|^2 \leq \|x - y\|^2 + 2\langle x - Tx, y - Ty \rangle, \quad \forall x, y \in C. \quad (1.3)$$

Observe that if T is nonspreading and $F(T) \neq \emptyset$, then T is quasi-nonexpansive.

A mapping $T : C \rightarrow H$ is called *hybrid* if

$$3\|Tx - Ty\|^2 \leq \|x - y\|^2 + \|Tx - y\|^2 + \|Ty - x\|^2$$

for all $x, y \in C$.

In 2010, Osilike and Isiogugu ([16]) introduced a new mapping of nonspreading-type as follows. A mapping $T : D(T) \subseteq H \rightarrow H$ is said to be k -strictly pseudononspreading if there exists $k \in [0, 1)$ such that

$$\|Tx - Ty\|^2 \leq \|x - y\|^2 + k\|x - Tx - (y - Ty)\|^2 + 2\langle x - Tx, y - Ty \rangle.$$

Let $\beta \in [k, 1)$ and $T_\beta = \beta I + (1 - \beta)T$. Then $F(T) = F(T_\beta)$.

Clearly every nonspreading mapping is k -strictly pseudononspreading. For example shows that the class of k -strictly pseudononspreading mapping is more general than the class of nonspreading mappings (see example([16])).²

Observe that if T is k -strictly pseudononspreading and $F(T) \neq \emptyset$, then for all $x \in D(T)$ and for all $p \in F(T)$ we have

$$\|Tx - p\|^2 \leq \|x - p\|^2 + k\|x - Tx\|^2. \quad (1.4)$$

Thus every k -strictly pseudononspreading map with a nonempty fixed point set $F(T)$ is *demicontractive* (see example([7], [15])).

In 2010, Kohsaka and Takahashi ([12]) introduced a new class of mappings which is more general than a class of hybrid mappings. A mapping $T : C \rightarrow H$ is generalized hybrid if there are $\alpha, \beta \in \mathbb{R}$ such that

$$\alpha\|Tx - Ty\|^2 + (1 - \alpha)\|x - Ty\|^2 \leq \beta\|Tx - y\|^2 + (1 - \beta)\|x - y\|^2,$$

for all $x, y \in C$.

Recently, S. Suantai defined a mapping $T : C \rightarrow C$ is said to be k -strictly pseudo λ -hybrid, if there exist $k \in [0, 1)$ and $\lambda \geq 0$ such that

$$\|Tx - Ty\|^2 \leq \|x - y\|^2 + 2\lambda\langle x - Tx, y - Ty \rangle + k\|(x - Tx) - (y - Ty)\|^2 \quad (1.5)$$

- (i) If $k = 0$ and $\lambda = \frac{1}{2}$, then T is hybrid.
- (ii) If $k = 0$ and $\lambda = 1$, then T is nonspreading.
- (iii) If $\lambda = 1$, then T is k -strictly pseudononspreading.
- (iv) If $\lambda = 0$, then T is k -strict pseudo-contractive.

Let $F : C \times C \rightarrow \mathbb{R}$ be a bifunction. The equilibrium problem for F is to determine its equilibrium points, i.e. the set

$$EP(F) = \{x \in C : F(x, y) \geq 0, \forall y \in C\}. \quad (1.6)$$

The set of generalized equilibrium problem is denoted by EP i.e.,

$$EP = \{z \in C : F(z, y) + \langle Az, y - z \rangle \geq 0, \forall y \in C\}$$

Let C be a nonempty closed convex subset of H . Let F be a bifunction from $C \times C$ to \mathbb{R} satisfying

$$(A1) \quad F(x, x) = 0 \quad \forall x \in C;$$

$$(A2) \quad F \text{ is monotone, i.e. } F(x, y) + F(y, x) \leq 0 \quad \forall x, y \in C;^3$$

$$(A3) \forall x, y, z \in C,$$

$$\lim_{t \rightarrow 0^+} F(tz + (1-t)x, y) \leq F(x, y);$$

(A4) $\forall x \in C, y \mapsto F(x, y)$ is convex and lower semicontinuous; In this paper, using an idea of mean convergence, we prove a strong convergence theorem for k -strictly pseudo λ -hybrid mappings in a Hilbert space.

2 Preliminaries

Let E be real Banach space. A mapping T with domain $D(T)$ and range $R(T)$ in E is said to be demiclosed at a point $p \in D(T)$ (see example[6]) if whenever $\{x_n\}_{n=1}^\infty$ is a sequence in $D(T)$ which converges weakly to a point $x \in D(T)$ and $\{Tx_n\}_{n=1}^\infty$ converges strongly to p , then $Tx = p$.

Lemma 2.1. ([16]) Let H be a real Hilbert space. Then the following well known results hold:

$$(1) \|tx + (1-t)y\|^2 = t\|x\|^2 + (1-t)\|y\|^2 - t(1-t)\|x - y\|^2,$$

for all $x, y \in H$ and for all $t \in [0, 1]$.

$$(2) \|x + y\|^2 \leq \|x\|^2 + 2\langle y, x + y \rangle \text{ for all } x, y \in H.$$

(3) If $\{x_n\}_{n=1}^\infty$ is a sequence in H which converges weakly to $z \in H$ then

$$\limsup_{n \rightarrow \infty} \|x_n - y\|^2 = \limsup_{n \rightarrow \infty} \|x_n - z\|^2 + \|z - y\|^2 \quad \forall y \in H.$$

Let C be nonempty closed convex subset of a real Hilbert space H . The nearest point projection $P_C : H \rightarrow C$ defined from H onto C is the function which assigns to each $x \in H$ its nearest point denoted by $P_C x$ in C . Thus $P_C x$ is the unique point in C such that

$$\|x - P_C x\| \leq \|x - y\| \quad \forall y \in C.$$

It is known that for each $x \in H$

$$\langle x - P_C x, y - P_C x \rangle \leq 0 \quad \forall y \in C.$$

Lemma 2.2. ([20]) Let C be nonempty closed convex subset of a real Hilbert space H . Let $P_C : H \rightarrow C$ be the metric projection of H onto C . Let $\{x_n\}_{n=1}^\infty$ be sequence in C and let $\|x_{n+1} - u\| \leq \|x_n - u\|$ for all u in C . Then $\{P_C x_n\}_{n=1}^\infty$ converges strongly.

Lemma 2.3. ([5]) Let C be a nonempty closed convex subset of a Hilbert space H and $F : C \times C \rightarrow \mathbb{R}$ satisfy (A1) – (A4). For $r > 0$ and $x \in H$, define a mapping $T_r : H \rightarrow C$ as follows:

$$T_r(x) = \{z \in C : F(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \geq 0, \forall y \in C\} \text{ for all } x \in H. \quad (2.1)$$

Then the following hold:

- (1) T_r is single-valued;
- (2) T_r is firmly nonexpansive, i.e., for all $x, y \in H$,

$$\|T_r(x) - T_r(y)\|^2 \leq \langle T_r(x) - T_r(y), x - y \rangle;$$

- (3) $F(T_r) = EP(F)$;
- (4) $EP(F)$ is closed and convex.

Lemma 2.4. ([1],[21]) Let $\{a_n\}_{n=1}^\infty$ be a sequence of non-negative real numbers satisfying the condition

$$a_{n+1} \leq (1 - \alpha_n)a_n + \alpha_n\beta_n, \quad n \geq 1,$$

where $\{\alpha_n\}_{n=1}^\infty$ and $\{\beta_n\}_{n=1}^\infty$ are real sequence such that

- (i) $\{\alpha_n\}_{n=1}^\infty \subset [0, 1]$ and $\sum_{n=1}^\infty \alpha_n = \infty$.
- (ii) $\limsup_{n \rightarrow \infty} \beta_n \leq 0$.

Then $\lim_{n \rightarrow \infty} a_n = 0$.

3 Main Results

Theorem 3.1. Let C be a nonempty closed convex subset of a real Hilbert space H . Let $T : C \rightarrow C$ be a k -strictly pseudo λ -hybrid mapping with a nonempty fixed point set $F(T)$. Let $\beta \in [k, 1)$ and let $T_\beta := \beta I + (1 - \beta)T$. Let $\{\alpha_n\}_{n=1}^\infty \subset [0, 1)$ satisfying the conditions:

$$\lim_{n \rightarrow \infty} \alpha_n = 0 \text{ and } \sum_{n=1}^\infty \alpha_n = \infty.$$

Let $u \in C$ and let $\{x_n\}_{n=1}^\infty$ and $\{z_n\}_{n=1}^\infty$ be sequences in C generated from an arbitrary $x_1 \in C$ by

$$\begin{cases} x_{n+1} = \alpha_n u + (1 - \alpha_n)z_n, & n \geq 1, \\ z_n = \frac{1}{n} \sum_{k=0}^{n-1} T_\beta^k x_n, & n \geq 1, \end{cases} \quad (3.1)$$

⁵ Then $\{x_n\}_{n=1}^\infty$ and $\{z_n\}_{n=1}^\infty$ converges strongly to $P_{F(T)}u$, where $P_{F(T)} : H \rightarrow F(T)$ is the metric projection of H onto $F(T)$.

Proof. Let $T_\beta x := \beta x + (1 - \beta)Tx$. Then for all $x, y \in C$ we have

$$\begin{aligned}
 \|T_\beta x - T_\beta y\|^2 &= \|\beta x + (1 - \beta)Tx - \beta y - (1 - \beta)Ty\|^2 \\
 &= \|\beta(x - y) + (1 - \beta)(Tx - Ty)\|^2 \\
 &= \beta\|x - y\|^2 + (1 - \beta)\|Tx - Ty\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\leq \beta\|x - y\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + (1 - \beta)[\|x - y\|^2 + k\|x - Tx - (y - Ty)\|^2 + 2\lambda\langle x - Tx, y - Ty \rangle] \\
 &= \|x - y\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + k(1 - \beta)\|x - Tx - (y - Ty)\|^2 + 2\lambda(1 - \beta)\langle x - Tx, y - Ty \rangle \\
 &= \|x - y\|^2 - (1 - \beta)(\beta - k)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + 2\lambda(1 - \beta)\langle x - Tx, y - Ty \rangle \\
 &\leq \|x - y\|^2 + 2\lambda(1 - \beta)\langle x - Tx, y - Ty \rangle \\
 &= \|x - y\|^2 + 2\lambda(1 - \beta)\langle \frac{x - T_\beta x}{1 - \beta}, \frac{y - T_\beta y}{1 - \beta} \rangle \\
 &= \|x - y\|^2 + \frac{2\lambda}{(1 - \beta)}\langle x - T_\beta x, y - T_\beta y \rangle.
 \end{aligned} \tag{3.2}$$

It follows from (3.2) that T_β is quasi-nonexpansive. Let $p \in F(T)$. We have

$$\begin{aligned}
 \|z_n - p\| &= \left\| \frac{1}{n} \sum_{k=0}^{n-1} T_\beta^k x_n - p \right\| \\
 &\leq \frac{1}{n} \sum_{k=0}^{n-1} \|T_\beta^k x_n - p\| \leq \frac{1}{n} \sum_{k=0}^{n-1} \|x_n - p\| \leq \|x_n - p\|.
 \end{aligned} \tag{3.3}$$

Thus

$$\begin{aligned}
 \|x_{n+1} - p\| &= \|\alpha_n u + (1 - \alpha_n)z_n - p\| \\
 &= \|\alpha_n u + (1 - \alpha_n)z_n - \alpha_n p + \alpha_n p - p\| \\
 &\leq \alpha_n \|u - p\| + (1 - \alpha_n)\|z_n - p\| \\
 &\leq \alpha_n \|u - p\| + (1 - \alpha_n)\|x_n - p\|.
 \end{aligned} \tag{3.4}$$

By (3.4) and induction, we can conclude that for all $n \in \mathbb{N}$,

$$\|x_n - p\| \leq \max\{\|u - p\|, \|x_1 - p\|\}.$$

⁶ Thus $\{x_n\}$ and $\{z_n\}$ are bounded. Since $\|T_\beta^n x_n - p\| \leq \|x_n - p\|$, we have that $\{T_\beta^n x_n\}$ is also bounded. Observe that since $\{z_n\}$ is bounded and $\lim_{n \rightarrow \infty} \alpha_n = 0$, then

$$\begin{aligned}\|x_{n+1} - z_n\| &= \|\alpha_n u + (1 - \alpha_n)z_n - p\| \\ &= \alpha_n \|u - z_n\| \longrightarrow 0 \text{ as } n \longrightarrow \infty.\end{aligned}\quad (3.5)$$

We may assume without loss of generality that exists a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that

$$\limsup_{n \rightarrow \infty} \langle u - P_{F(T)}u, x_n - P_{F(T)}u \rangle = \lim_{j \rightarrow \infty} \langle u - P_{F(T)}u, x_{n_j} - P_{F(T)}u \rangle,$$

and $x_{n_j} \rightharpoonup w$ as $j \rightarrow \infty$. Since $\|x_{n+1} - z_n\| \rightarrow 0$ as $n \rightarrow \infty$, it follows that $z_{n_j} \rightharpoonup w$ as $j \rightarrow \infty$. Next, we will show that $w \in F(T)$. Using (3.2) we obtain for all $k = 0, 1, 2, \dots, n-1$ and for arbitrary $y \in C$

$$\begin{aligned}\|T_\beta^{k+1}x_n - T_\beta y\|^2 &= \|T_\beta(T_\beta^k x_n) - T_\beta y\|^2 \\ &\leq \|T_\beta^k x_n - y\|^2 + \frac{2\lambda}{1-\beta} \langle T_\beta^k x_n - T_\beta^{k+1}x_n, y - T_\beta y \rangle \\ &= \|T_\beta^k x_n - T_\beta y + T_\beta y - y\|^2 + \frac{2\lambda}{1-\beta} \langle T_\beta^k x_n - T_\beta^{k+1}x_n, y - T_\beta y \rangle \\ &= \|T_\beta^k x_n - T_\beta y\|^2 + \|T_\beta y - y\|^2 + 2\langle T_\beta^k x_n - T_\beta y, T_\beta y - y \rangle \\ &\quad + \frac{2\lambda}{1-\beta} \langle T_\beta^k x_n - T_\beta^{k+1}x_n, y - T_\beta y \rangle.\end{aligned}\quad (3.6)$$

Summing (3.6) from $k = 0$ to $n-1$ and dividing by n we obtain

$$\begin{aligned}\frac{1}{n} \|T_\beta^n x_n - T_\beta y\|^2 &\leq \frac{1}{n} \|x_n - T_\beta y\|^2 + \|T_\beta y - y\|^2 + 2\langle z_n - T_\beta y, T_\beta y - y \rangle \\ &\quad + \frac{2\lambda}{n(1-\beta)} \langle x_n - T_\beta^n x_n, y - T_\beta y \rangle.\end{aligned}\quad (3.7)$$

Since $\{z_n\}$ is bounded, then there exists a subsequence $\{z_{n_j}\}$ of $\{z_n\}$ which converges weakly to $w \in C$. Replacing n by n_j in (3.7) we obtain

$$\begin{aligned}\frac{1}{n_j} \|T_\beta^{n_j} x_n - T_\beta y\|^2 &\leq \frac{1}{n_j} \|x_n - T_\beta y\|^2 + \|T_\beta y - y\|^2 + 2\langle z_{n_j} - T_\beta y, T_\beta y - y \rangle \\ &\quad + \frac{2\lambda}{n_j(1-\beta)} \langle x_n - T_\beta^{n_j} x_n, y - T_\beta y \rangle.\end{aligned}\quad (3.8)$$

Since $\{x_n\}$ and $\{T_\beta^n x_n\}$ are bounded, letting $j \rightarrow \infty$ in (3.8) yields

$$0 \leq \|T_\beta y - y\|^2 + 2\langle w - T_\beta y, T_\beta y - y \rangle.\quad (3.9)$$

Since $y \in C$ was arbitrary, if we set $y = w$ in (3.9) we obtain

$$0 \leq \|T_\beta w - w\|^2 - 2\|T_\beta w - w\|^2,$$

from which it follows that $w \in F(T_\beta) = F(T)$. Since $P_{F(T)} : H \rightarrow F(T)$ is the metric projection we have

$$\lim_{j \rightarrow \infty} \langle u - P_{F(T)}u, x_{n_j} - P_{F(T)}u \rangle = \langle u - P_{F(T)}u, w - P_{F(T)}u \rangle \leq 0.$$

Using Lemma 2.1(ii) and (3.3) we have

$$\begin{aligned} \|x_{n+1} - P_{F(T)}u\|^2 &= \|\alpha_n u + (1 - \alpha_n)z_n - P_{F(T)}u\|^2 \\ &= \|\alpha_n u - \alpha_n P_{F(T)}u + (1 - \alpha_n)z_n - P_{F(T)}u + \alpha_n P_{F(T)}u\|^2 \\ &= \|\alpha_n u - \alpha_n P_{F(T)}u + (1 - \alpha_n)z_n - (1 - \alpha_n)P_{F(T)}u\|^2 \\ &= \|\alpha_n(u - P_{F(T)}u) + (1 - \alpha_n)(z_n - P_{F(T)}u)\|^2 \\ &\leq (1 - \alpha_n)^2 \|z_n - P_{F(T)}u\|^2 + 2\alpha_n \langle u - P_{F(T)}u, x_{n+1} - P_{F(T)}u \rangle \\ &\leq (1 - \alpha_n)^2 \|x_n - P_{F(T)}u\|^2 + 2\alpha_n \langle u - P_{F(T)}u, x_{n+1} - P_{F(T)}u \rangle. \end{aligned} \quad (3.10)$$

Since $\alpha_n \rightarrow 0$, $\sum_{n=1}^{\infty} \alpha_n = \infty$ and $\limsup_{n \rightarrow \infty} \langle u - P_{F(T)}u, x_{n+1} - P_{F(T)}u \rangle \leq 0$, it follows from Lemma 2.3 that $\lim_{n \rightarrow \infty} \|x_n - P_{F(T)}u\| = 0$.

$$0 \leq \|z_n - P_{F(T)}u\| \leq \|z_n - x_{n+1}\| + \|x_{n+1} - P_{F(T)}u\| \rightarrow 0 \text{ as } n \rightarrow \infty.$$

Hence $\lim_{n \rightarrow \infty} \|z_n - P_{F(T)}u\| = 0$.

□

Theorem 3.2. Let C be a nonempty closed convex subset of a real Hilbert space H . Let $T : C \rightarrow C$ be a k -strictly pseudo λ -hybrid mapping with a nonempty fixed point set $F(T)$. Let $\beta \in [k, 1)$ and let $T_\beta := \beta I + (1 - \beta)T$. Let $\{\alpha_n\}_{n=1}^{\infty} \subset [0, 1)$ satisfying the conditions:

$$\lim_{n \rightarrow \infty} \alpha_n = 0 \text{ and } \sum_{n=1}^{\infty} \alpha_n = \infty.$$

Let $u \in C$ and let $\{x_n\}_{n=1}^{\infty}$ and $\{z_n\}_{n=1}^{\infty}$ be sequences in C generated from an arbitrary $x_1 \in C$ by

$$x_{n+1} = \alpha_n u + (1 - \alpha_n)T_\beta x_n, \quad n \geq 1. \quad (3.11)$$

Then $\{x_n\}_{n=1}^{\infty}$ converges strongly to a fixed point p of T .

Proof. It is clear that $F(T_\beta) = F(T) \neq \emptyset$. As in the proof of Theorem 3.1 we have

$$\begin{aligned}
 \|T_\beta x - T_\beta y\|^2 &= \beta\|x - y\|^2 + (1 - \beta)\|Tx - Ty\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\leq \beta\|x - y\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + (1 - \beta)[\|x - y\|^2 + k\|x - Tx - (y - Ty)\|^2 + 2\lambda\langle x - Tx, y - Ty \rangle] \\
 &= \|x - y\|^2 - \beta(1 - \beta)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + k(1 - \beta)\|x - Tx - (y - Ty)\|^2 + 2\lambda(1 - \beta)\langle x - Tx, y - Ty \rangle \\
 &= \|x - y\|^2 - (1 - \beta)(\beta - k)\|x - Tx - (y - Ty)\|^2 \\
 &\quad + 2\lambda(1 - \beta)\langle x - Tx, y - Ty \rangle \\
 &= \|x - y\|^2 - \frac{(\beta - k)}{(1 - \beta)}\|x - T_\beta x - (y - T_\beta y)\|^2 \\
 &\quad + \frac{2\lambda}{(1 - \beta)}\langle x - T_\beta x, y - T_\beta y \rangle \\
 &\leq \|x - y\|^2 - (\beta - k)\|x - T_\beta x - (y - T_\beta y)\|^2 \\
 &\quad + \frac{2\lambda}{(1 - \beta)}\langle x - T_\beta x, y - T_\beta y \rangle.
 \end{aligned} \tag{3.12}$$

Thus for all $x \in C$ and for all $p \in F(T) = F(T_\beta)$ we have

$$\|T_\beta x - p\|^2 \leq \|x - p\|^2 - (\beta - k)\|x - T_\beta x\|^2.$$

This implies that T_β is a *quasi-firmly type nonexpansive* mapping (see for example [17]). Hence it follows from [17] (see Theorem 3.1 and Remark 1 of [17]) that $\{x_n\}_{n=1}^\infty$ converges strongly to a point $p \in F(T) = F(T_\beta)$. \square

By Definition of k - strictly pseudo λ - hybrid Mapping, if $k = 0$ and $\lambda = 1$, then T is nonspreading. It follows that we have some corollary.

Corollary 3.1. ([9]) Let C be a nonempty closed convex subset of a real Hilbert space. Let $T : C \longrightarrow C$ be a nonspreading mapping with a nonempty fixed point set $F(T)$. Let $\beta \in (0, 1)$ and let $T_\beta := \beta I + (1 - \beta)T$. Let $\{\alpha_n\}_{n=1}^\infty \subset [0, 1)$ satisfying the conditions:

$$\lim_{n \rightarrow \infty} \alpha_n = 0 \quad \text{and} \quad \sum_{n=1}^{\infty} \alpha_n = \infty.$$

Let $u \in C$ and let $\{x_n\}_{n=1}^\infty$ and $\{z_n\}_{n=1}^\infty$ be sequences in C generated from an arbitrary $x_1 \in C$ by

$$x_{n+1} = \alpha_n u + (1 - \alpha_n)T_\beta x_n, \quad n \geq 1. \tag{3.13}$$

Then $\{x_n\}_{n=1}^\infty$ converges strongly to a fixed point p of T .⁹

If $\lambda = 1$, then T is k - strictly pseudononspreading.

Corollary 3.2. ([16]) Let C be a nonempty closed convex subset of of a real Hilbert space. Let $T : C \longrightarrow C$ be a k -strictly pseudononspreading mapping with a nonempty fixed point set $F(T)$. Let $\beta \in [k, 1)$ and let $T_\beta := \beta I + (1 - \beta)T$. Let $\{\alpha_n\}_{n=1}^\infty \subset [0, 1)$ satisfying the conditions:

$$\lim_{n \rightarrow \infty} \alpha_n = 0 \text{ and } \sum_{n=1}^{\infty} \alpha_n = \infty.$$

Let $u \in C$ and let $\{x_n\}_{n=1}^\infty$ and $\{z_n\}_{n=1}^\infty$ be sequences in C generated from an arbitrary $x_1 \in C$ by

$$x_{n+1} = \alpha_n u + (1 - \alpha_n)T_\beta x_n, \quad n \geq 1. \quad (3.14)$$

Then $\{x_n\}_{n=1}^\infty$ converges strongly to a fixed point p of T .

4 Acknowledgements

The authors gratefully acknowledge the financial support by Department of Mathematics, Faculty of Science, Maejo University, Chiangmai, Thailand.

References

- [1] K. Aoyama, Y. Kimura, W. Takahashi, M. Toyada, *Approximation of common fixed points of a countable family of nonexpansive mappings in a Banach space*, Nonlinear Anal. **67** (2007) 2350–2360.
- [2] E. Blum and W. Oettli, *From optimization and variational inequalities to equilibrium problems*, The Mathematics Student. **63**, no.1-4 (1994) 123–145.
- [3] F.E. Browder, *Convergence theorems for sequences of nonlinear operators in Banach spaces*, Math. Z. **100** (1967) 201–225.
- [4] F.E. Browder, W.V.Petryshyn, *Construction of fixed points of nonlinear mappings in a Hilbert spaces*, J. Math. Anal. Appl. **20** (1967) 197–228.
- [5] P.L. Combettes, S.A. Hirstoaga, *Equilibrium programming in Hilbert spaces*, J.Nonlinear Convex Anal. **6** (2005) 117-136.
- [6] K. Goebel, W.A. Kirk, *Topics in Metric Fixed Point Theory*, Cambridge University Press, Cambridge, 1990.
- [7] T.L. Hicks and J.R. Kubicek, *On the Mann Iterative Process in Hilbert Spaces*, J. Math. Anal. Appl. **59** (1997) 498–504. ¹⁰

- [8] S. Iemmoto and W. Takahashi, *Approximating common fixed points of nonexpansive mappings and nonspreading mappings in a Hilbert space*, Nonlinear Anal. **71** (2009) 2080–2089.
- [9] T. Igarashi, W. Takahashi, K. Tanaka, *Weak convergence theorems for nonspreading mappings and equilibrium problems*, in S. Akashi, W. Takahashi, T. Tanaka (Eds), Nonlinear Analysis and Optimization, Yokohama (2009) 75–85.
- [10] S. Itoh, W. Takahashi, *The common fixed point theory of singlevalued mappings and multivalued mappings*, Pacific J. Math. **79** (1978) 493–508.
- [11] F. Kohsaka and W. Takahashi, *Fixed point theorems for a class of nonlinear mappings relate to maximal monotone operators in Banach spaces*, Arch. Math. (Basel) **91** (2008) 166–177.
- [12] F. Kohsaka and W. Takahashi, *Existence and approximation of fixed points of firmly nonexpansive-type mappings in Banach spaces*, Siam J. Optim. **19** (2008) 824–835.
- [13] F. Kohsaka and W. Takahashi, *weak and strong convergence theorems for nonspreading mappings in Hilbert spaces*, Nonlinear Anal. **70** (2010) 3110–3118.
- [14] S. Matsushita and W. Takahashi, *Weak and strong convergence theorems for relatively nonexpansive mappings in Banach space*, Fixed Point Theory Appl. (2004) 37–47.
- [15] S.A. Naimpally and K.L. Singh, *Extensions of some fixed point theorems of Rhoades*, J. Math. Anal. Appl. **96** (1983) 437–446.
- [16] M.O. Osilike and F.O. Isiogugu, *Weak and strong convergence theorems for nonspreading-type mappings in Hilbert space*, Nonlinear Anal. **125** (2010) 3641–3645.
- [17] Y. Song and X. Chai, *Halpern iteration for firmly type nonexpansive mappings*, J. Nonlinear Anal. **71** (2009) 4500–4506.
- [18] W. Takahashi, *Fixed point theorems for new nonlinear mappings in a Hilbert space*, J. Nonlinear Anal. **11** (2010) 79–88.
- [19] W. Takahashi, *Nonlinear Functional Analysis*, Yokohama Publishers, Yokohama, 2009.
- [20] W. Takahashi and M. Toyoda, *Weak convergence theorems for nonexpansive mappings and monotone mappings*, J. Optim. Theorey Appl. **118** (2003) 417–428.
- [21] H.K. Xu, *Iterative algorithm for nonlinear operators*, J. London. Math. Soc. **2** (2002) 240–256.